




Real Champs-



3, 3,   9,   29,   ?

A.61
B.51
C.71
D.75
E.67



√225 + (1500 of 55%) - {(45)2 ÷ 81 × 4} + 20 - 16 = ?

A.744
B.748
C.746
D.752
E.742



50 × 6.5 + √625 = ? × 5

A.90
B.80
C.70
D.50
E.60



29 × ∛27 + 113 = (?)2 + 79

A.11
B.12
C.121
D.10
E.21



20 - 102 = 41 - ?2

A.12
B.10
C.7
D.11
E.9



(3/5) × 125 – 256 + 30% of 200 × 5 - 1 = ?

A.59
B.89
C.118
D.108
E.98



44 × 25% of 1331 ÷ 11 = ?

A.484
B.1132
C.1331
D.1231
E.NOT



√289 − ∛1331 + 2 = ?3

A.1
B.1/2
C.2
D.3/2
E.3



16.66% of 2436 - 24.36% of 1666 + (64)1/2/23 = ?

A.0
B.1
C.100
D.120
E.NOT
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PERCENT OF STUDENTS = 125000

Direction: Study the chart and answer the following questions.
The chart shows the percentage of students who appeared from different states in IBPS 
PO exam.
निरे्दश: चार्ट का अध्ययि करें और निम्िनिखित प्रश्नों के उत्तर र्दें। चार्ट आईबीपीएस पीओ परीक्षा में 
विनिन्ि राज्यों से उपखथित होिे िािे छात्रों के प्रनतशत को र्दशाटता है।



What is total number of students appeared in IBPS PO from U.P. and Bihar together?

उत्तर प्रदेश और बिहार से आईिीपीएस पीओ में उपबथित छात्रों की कुल संख्या क्या है?

A.45000
B.32000
C.50000
D.35000
E.40000



In others section, 2 / 7th of the students are from Delhi, what is the number of students 

appeared in IBPS PO from Delhi?

अन्य अनुभाग में, 2/7 छात्र बदल्ली से हैं, बदल्ली से आईिीपीएस पीओ में उपबथित छात्रों की संख्या क्या है?

A.15000
B.12500
C.10250
D.14000
E.13300



In west Bengal, 8% of the students who appeared in IBPS PO got final selection. What is 

the number of students who finally got selected from West Bengal?

पबिम िंगाल में, आईिीपीएस पीओ में उपबथित होने वाले 8% छात्रों को अंबतम चयन बमला। पबिम 

िंगाल से अंबतम रूप से चयबनत छात्रों की संख्या क्या है?

A.1200
B.850
C.1500
D.1870
E.1250



Two-fifth of the students appeared in IBPS PO from Kerala are girls. Number of girls 

appeared in IBPS PO from Kerala are what percentage of total number of students 

appeared in IBPS PO from Haryana?

केरल से आईिीपीएस पीओ में उपबथित छात्रों में से दो-पांचवां बहथसा लड़बकयां हैं। केरल से आईिीपीएस पीओ में 

उपबथित लड़बकयों की संख्या हररयाणा से आईिीपीएस पीओ में उपबथित छात्रों की कुल संख्या का बकतना प्रबतशत है?

A.62.5%
B.40%
C.37.5%
D.50%
E.70%



What is the difference between number of students appeared in IBPS PO from U.P. and 

total number of students appeared in IBPS PO from Kerala and Bihar together?

उत्तर प्रदेश से आईिीपीएस पीओ में उपबथित छात्रों की संख्या और केरल और बिहार से आईिीपीएस पीओ 

में उपबथित छात्रों की कुल संख्या के िीच का अंतर क्या है?

A.1750
B.2150
C.3000
D.1500
E.2500



A field of 500 Km2 is divided into two parts. The difference of the areas of two parts is 

4/5 of the average of two areas. What is the area of smaller part in kilometres?

500 km2 के एक के्षत्र को दो भागों में बवभाबित बकया गया है। दो भागों के के्षत्रफलों का अंतर दो के्षत्रों के 

औसत का 4/5 है। बकलोमीटर में छोटे भाग का के्षत्रफल क्या है?

A.350 km2

B.150 km2

C.225 km2

D.300 km2

E.275 km2



The average weight of a cricket team of 10 players  is 30 kg. If the weight of the coach of 

the team is included the average weight becomes 35 kg. Find the weight of coach ?

10 बिलाबड़यों की एक बिकेट टीम का औसत विन 30 बकलो है। यबद टीम के कोच के विन को शाबमल 

बकया िाता है तो औसत विन 35 बकलोग्राम हो िाता है। कोच का विन ज्ञात कीबिये?

A.80 kg
B.75 kg
C.70 kg
D.65 kg
E.85 kg



A man, a woman or a boy complete a work in 12 days, 18 days and 24 days respectively. 

How many days are required 1 man, 3 women and 2 boys to complete the whole work?

एक पुरुष, एक मबहला या एक लड़का एक कायय को िमशः 12 बदन, 18 बदन और 24 बदन में पूरा करते हैं. पूरे 

कायय को पूरा करने के बलए 1 पुरुष, 3 मबहलाओ ंऔर 2 लड़कों को बकतने बदनों की आव्यकता है?

A.3 days
B.4 days
C.5 days
D.6 days
E.7 days



A boat’s speed downstream is 8 km/hr more than its upstream speed. If the speed of the 

boat in still water is 10 km/hr, find the time taken to cover 54 km upstream and 42 km 

downstream?

धारा के अनुकूल एक नाव की गबत धारा के प्रबतकूल गबत से 8 बकमी/घंटा अबधक है. यबद बथिर पानी में नाव 

की गबत 10 बकमी/घंटा है, तो धारा के प्रबतकूल 54 बकमी और धारा के अनुकूल 42 बकमी की दूरी तय करने 

में बलया गया समय ज्ञात कीबिये?

A.10 hours
B.11 hours
C.12 hours
D.13 hours
E.14 hours



X, Y, and Z invested 4500rs, 7000rs and 9000rs respectively to start a gaming club. At the 

end of two years, they earned a profit of 16400rs. What will be Y’s share in the profit?

X, Y और Z ने गेबमंग क्लि शुरू करने के बलए िमशः 4500 रुपये, 7000 रुपये और 9000 रुपये का बनवेश 

बकया। दो साल के अंत में, उन्होंने 16400 रुपये का लाभ अबियत बकया। लाभ में Y का बहथसा क्या होगा?

A.Rs. 5600
B.Rs. 5800
C.Rs. 6200
D.Rs. 5400
E.NOT



The radius of two cones are in the ratio of 2 ∶ 3, if their slant heights are in the ratio of 9 ∶
8, then find the ratio of their curved surface area?

दो शंकुओ ंकी बत्रज्या 2 : 3 के अनुपात में है, यबद उनकी बतरछी ऊंचाई 9 : 8 के अनुपात में है, तो उनके वि 

पषृ्ठीय के्षत्रफल का अनुपात ज्ञात कीबिये?

A.1 ∶ 1
B.1 ∶ 2
C.2 ∶ 1
D.3 ∶ 4
E.4 ∶ 3



x2 – 13x + 40 = 0

y2 – 13y + 42 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 - 12x - 64 = 0

y2 + 4y - 32 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 + x – 12 = 0

y2 - y – 42 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND


